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Where S: Sample standard deviation
TogetS’: Sample variance, justsguare S.
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Where S: Sample standard deviation
To get gt Sample variance, justsquare S.
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Q# | )We measure the number uf asthma cases seen in the past months for a sample of hospital:

r = S | “ :

20, 16 30 14 20 35 6 29 20 25 -49. 15

" [1]The type of the variable is: '

~ (a)qualitative * (b) continuous (c) number (d) normal @ discrete (f) statistic
[2]The sample mean is: a

=%

—

(@20  (b)30 (c) 24 @ 23.25 (e) 20.5 (f) 25
[3]The sample mode is: - | - ;o
(a) 16 (b) 49 (c) 35 (d25 - @20 - (f) nomode - - -
[4]The sample median is: | :
(a) 16 (b) 25 ® 20 (d) 35 (e)30 (f) 49 N
[5]The sample standard deviation is:
E\ (a) 10 (b) 23.25 (c) 128.93 (d) 7905  (e) 279 @11.355 t‘

] Q# 9.)For a sample of size 15 women, here are the numbers of their children:

| IR LR W R N E :
é [1]The type of the variable is: | |
L (a)quahtaﬂve: (b) continuous  (c) number - (d) normal - @ discrete  (f) statistic o
‘ [2]The sample mean is:
(a) 3 (b)6 - (c) 7.84 @238 e)25 - (HO
" [3]The sample median is: | -
N @3 (b) 2 ©35 @75 - @25  (H15
| " [4]The sample modeis: . |
A1 ([5]Thesample (a) 6. (@2and 4 (©)2,3and4 (@3 ()5  (f)nomode
- standard deviation is: -
‘ " (a) 166 (b) 3.457 () 1.364  (d)1.796 @@1.859 (H) 1 I?
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